POULE A (TS1)

TIRAGE [ POS NOMS BECKRICH| RIVOT C [IEGENWALI MP I MW | FW | FL FD FA
A 1 BECKRICH 3 3 6 0 6 2,00
B 3 RIVOT C 3 1 2 4 -2 |-0,67
C 2 FIEGENWALD 3 2 4 2 2 0,67
D 4 X 3 0 0 6 -6 |-2,00
POULE B (TS3)
TIRAGE | POS NOMS POIROT DRAHON | MP | MW | FW | FL | FD | FA
E 1 D'ANNA 3 3 6 1 5 1,67
F 3 POIROT 3 1 3 4 -1 |-0,33
G 4 X 3 0 0 6 -6 |-2,00
H 2 DRAHON 3 2 4 2 2 0,67
TIRAGE [ POS NOMS MP| I MW|FW | FL | FD | FA
[ 2 MARTIN 3 2 4 3 1 |0,33
J 1 OCHOISKI 3 3 6 0 6 | 2,00
K 3 RIVOT A 3 1 3 4 -1 1-0,33
L 4 X 3 0 0 6 -6 |-2,00
POULE D (TS2)
TIRAGE | POS NOMS RULLO BEDEN MP{MW|FW | FL | FD | FA
M 1 KOCH 3 3 6 0 6 | 2,00
N 3 RULLO 3 1 2 4 -2 |-0,67
o) 2 BEDEN 3 2 4 2 2 0,67
P 4 X 3 0 0 6 -6 |-2,00
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